
Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

15000-

^5 12500-

ot
E

10000-
'-M
(0

7500-
c
o
u

5000-

l l l l
Background Parcel A Parcel B Parcels A/B

20000150001000050000

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Aluminum
Probability Plot

Parcels A/BParcel BParcel ABackground

15000

12500

10000

7500

5000

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●
●●

●

●

●●

●

●●
●

●

●
●

●
●

●
●●

●

●
●
●
●
●
●

●●
●●

●

●
●

●
●

●

●

●
●

●●●
●

●
●
●
●

●

●
●●●
●●

●

●

●
●
●

●

●
●

●●

●
●●

●

●

●●

●

●●
●

●

●
●

●
●

●
●●

●

●
●
●
●
●
●

●●
●●

●

●
●

●
●

●

●

●
●

●●●
●

●
●
●
●

●

●
●●●
●●

●

●

●
●
●

●

●
●

●●

●
●●

●

●

●●

●

●
●●●●●
●

●

●

●

●

●

●

●

●

●

●

●●

●●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●
●
●

●

●

●

●

●

●●

●●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●●
●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●
●

●●

●●

●
●

●
●

Metal = Aluminum
Boxplot



n
ns
n
o

0.999­

0.99­

0.95­
0.9­

0.8­
0.7­
0.6­
0.5
0.4­
0.3­
0.2­

0.1­
0.05

0.01

0.001

s?
■] y

-
-

' y
y'y y/ /' 

, \ y yy/ y

// / A

4^
-0.5

/

2.01.51.00.50.0-0.5-1.0

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Antimony
Probability Plot

Parcels A/BParcel BParcel ABackground

1.4

1.2

1.0

0.8

0.6

0.4

0.2

0.0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

○

●
●●●●●●

●

●

●

●●

○

●
●

●

●
●
●●●
●

●
●

●

●●
●●

●
●●●●●
●
●●●
●

●●

○○

●●
●●●
●●

○

●

○○

●●
●

○

●

○○

●

○

●
●●●●●●

●

●

●

●●

○

●
●

●

●
●
●●●
●

●
●

●

●●
●●

●
●●●●●
●
●●●
●

●●

○○

●●
●●●
●●

○

●

○○

●●
●

○

●

○○

●●●

●

○○

●●
○

●

○○

●

○

●
●

●
○
●
○○○○○○○○○

●

○○○●○○○

●

○○●○○
●
○○
●
○○
●
○

●
●

○○
●●
○

●

○

●●●

○

●

○
●
○○○○
●
○○○○○○○○○

●
●
●

●

●

●

●

●●
●
●

○

●

○

●

●

○

●

●

●

●

●

○○

●

○○○○○○○○○○○○○○○○

Metal = Antimony
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

ot
E

c
o

'-M
2
c
uu
c
o
u

9876543210

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Arsenic
Probability Plot

Parcels A/BParcel BParcel ABackground

7

6

5

4

3

2

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●

●

●

●

●

●●

●

●
●●

●

●

●

●

●●
●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●
●
●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●
●

●

●

●●
●
●

●

●

●

●

●

●

●

●●

●

●
●●

●

●

●

●

●●
●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●
●
●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●
●

●

●

●●
●
●

●

●

●

●
●

●

●
●●

●

●

●

●
●

●

●
●

●

●
●

●
●
●

●
●

●

●

●

●

●●
●

●

●

●

●
●●

●
●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●●

●

●
●

●

●

●
●
●

●●

●

●

●

●

●

●●
●

●

●

●●

●

●
●

●

●

●

●

●

●

●

●
●

●
●

●

●

●

●

●
●

●

●
●

●●

●

●

●
●
●

●

●

Metal = Arsenic
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

8006004002000-200

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Barium
Probability Plot

Parcels A/BParcel BParcel ABackground

900

800

700

600

500

400

300

200

100

0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●●
●
●●●
●●
●●
●●
●
●●

●●
●●
●
●●
●●
●
●

●
●
●
●●●
●●●
●●●●
●●
●

●●●●

●

●
●
●
●●●●
●●●
●●
●
●
●●●

●●
●
●●●
●●
●●
●●
●
●●

●●
●●
●
●●
●●
●
●

●
●
●
●●●
●●●
●●●●
●●
●

●●●●

●

●
●
●
●●●●
●●●
●●
●
●
●●●

●

●●

●

●
●

●

●

●

●
●●
●
●

●
●
●
●
●

●

●
●

●

●●
●

●●●●

●
●

●
●●●

●
●

●

●
●

●●●●
●
●●●●●
●

●

●
●
●

●●●
●
●●
●
●
●●
●
●●
●

●

●

●
●
●

●
●
●
●●

●
●●
●

●●●●●
●
●

●
●
●

●●
●
●

●

●●
●
●

●

●
●

●

●
●

●
●
●

●
●
●●
●●

●

●

Metal = Barium
Boxplot



n
ns
n
o

0.7

ot
0.6

0.5
2

0.4
u

S 0.3

1.21.00.80.60.40.20.0

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Beryllium
Probability Plot

Parcels A/BParcel BParcel ABackground

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●

●

●

●
●
●●

●

●●
●

●

●

●
●

●

●
●●●●●

●
●

●

●

●●
●●

●

●●
●●
●

●

●●

●●●●
●●
●
●
●●●●
●
●●

●

●●●●

●

●

●

●●

●

●

●

●
●
●●

●

●●
●

●

●

●
●

●

●
●●●●●

●
●

●

●

●●
●●

●

●●
●●
●

●

●●

●●●●
●●
●
●
●●●●
●
●●

●

●●●●

●

●

●

●●
●

●
●

●●

●

●

●

●

●
●
●

●

●
●●
●

●

●

●
●

●

●

●

●●

●

●●
●●

●

●

●●

●

●●

●

●

●
●

●
●

●

●●

●

●●

●

●

●●

●

●

●

●

●
●

●

●

●

●

●

●

●

●●

●

●

●
●●●

●

●
●

●

●

●
●

●

●●

●
●

●

●

●
●

●

●●●
●
●

●

●●

●

●●

●

●

●

●
●

●
●●●

●●

●
●●●

●●

Metal = Beryllium
Boxplot



U! •

Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

302520151050

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Boron
Probability Plot

Parcels A/BParcel BParcel ABackground

25

20

15

10

5

0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

○

○
○
○
○
○○○○○○
○
○

○

○○○
○
○

○

○
○
○
○
○
○
○○○○○○
○○○○○○○
○
○○○○○○
○
○○○○○
○
○○
○○○○○○○○○

○

○
○
○
○
○○○○○○
○
○

○

○○○
○
○

○

○
○
○
○
○
○

○○○○○○
○○○○○○○
○
○○○○○○
○
○○○○○
○
○○
○○○○○○○○○

○
○
○○
○○
○
○○

●
●

○

●

○○

●

○
○○

●

○
○

●

○
●●

●

○○○
○
○○
○
○○
○
○

●

○○
●

○
○

●

○
●
●

○

●

●

●

●
●

○○○○○○○○○○○○○○○

●

○
○○
○○○○

●

○●

●●

●○

●
●
○
○

●

○○

●

○○
○○○

●

○
●●
●

○

●

Metal = Boron
Boxplot



n
ns
n
o

0.750.500.250.00-0.25-0.50

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Cadmium
Probability Plot

Parcels A/BParcel BParcel ABackground

0.6

0.5

0.4

0.3

0.2

0.1

0.0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●
●○
●
○
●

●

●

●

●

●

●
●
●

●
●

●

●

●

○

●
●

●

●

●

●

○○●

●

○○○
●●
○●○○●
●

●
●

●
●
●

●
●
●●○
●
●
●

●
●●
●

●

●
●
●●
●

●
●○
●
○
●

●

●

●

●

●

●
●
●

●
●

●

●

●

○

●
●

●

●

●

●

○○●

●

○○○
●●
○●○○●
●

●
●

●
●
●

●
●
●●○
●
●
●

●
●●
●

●

●
●
●●
●○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○

●

●

●
●●●
●
●

●
●●
●
●●●

●

Metal = Cadmium
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

—4—

90000-

80000-

^ 70000­

2
60000 -

E
^ 50000-
o

40000-
c

30000-
c
o

20000-

10000-

0- I I I I

4

O

800006000040000200000-20000-40000

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Calcium
Probability Plot

Parcels A/BParcel BParcel ABackground

90000

80000

70000

60000

50000

40000

30000

20000

10000

0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●
●●

●
●

●

●

●

●

●

●

●

●

●

●

●●

●
●
●
●

●

●

●

●

●

●

●
●●

●

●

●

●

●●●
●

●
●
●

●

●●

●

●●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●
●●

●
●

●

●

●

●

●

●

●

●

●

●

●●

●
●
●
●

●

●

●

●

●

●

●
●●

●

●

●

●

●●●
●

●
●
●

●

●●

●

●

●

●
●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●
●

●

●●

●
●
●

●

●

●

●●

●

●

●
●

●

●

●

●

●
●

●

●

●
●

●

●

●
●

●

●

●●
●

●
●●
●

●
●●●

●

●●●
●
●●

●

●
●

●

●

●

●

●●

●
●
●●●

●
●

●

●

●

●

●

●

●

●●

●
●

●

●

●

Metal = Calcium
Boxplot



' // j va

Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B/ / /

20151050

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Chromium (Total)
Probability Plot

Parcels A/BParcel BParcel ABackground

18

16

14

12

10

8

6

4

2

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

) ●

●
●

●

●

●

●

●●
●
●

●

●●

●●
●

●
●

●

●●

●

●

●

●

●●
●

●

●

●

●

●

●●

●

●

●

●
●

●●

●

●

●
●

●

●

●

●●
●●

●
●

●●

●

●

●

●

●

●

●

●
●

●

●

●

●

●●
●
●

●

●●

●●
●

●
●

●

●●

●

●

●

●

●●
●

●

●

●

●

●

●●

●

●

●

●
●

●●

●

●

●
●

●

●

●

●●
●●

●
●

●●

●

●

●

●

●

●

●

●

●

●
●

●

●
●
●

●●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●
●

●

●
●●●

●
●

●
●

●

●

●

●

●

●

●

●
●

●

●●

●

●
●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●
●

●
●●
●

●
●

●

●
●

●

●●

●

●●

●

●

●
●

●

●

●

●
●

●

●

●

●

●
●

●

●

●
●
●
●

●

●

●

●

●

●

●
●

●
●
●

Metal = Chromium (Total)
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

I!
Ot
E

c
o

'-M
ns

c
as
u
c
o
u

1.4-

1.2-

1.0-

0.8-

0.6-

0.4-

0.2-

2.52.01.51.00.50.0-0.5-1.0

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Chromium (VI)
Probability Plot

Parcels A/BParcel BParcel ABackground

1.4

1.2

1.0

0.8

0.6

0.4

0.2

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

○

○

○

●

○

○○

○

●

●

○

○

●

○

●

●●

○

●

●

○

○

●

●

○

○

○○○

●
●●

●

○○

●

○

●

○

●

○

●

●

○

●

○

●

○○

○

●●

○○

○○○

●

○○○

○

○

○

●

○

○○

○

●

●

○

○

●

○

●

●●

○

●

●

○

○

●

●

○

○

○○○

●
●●

●

○○

●

○

●

○

●

○

●

●

○

●

○

●

○○

○

●●

○○

○○○

●

○○○

○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○

Metal = Chromium (VI)
Boxplot



n
ns
n
o

0.8 
0.7H 
0.6 
0.5 
0.4 
0.3 
0.2

181614121086420

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Cobalt
Probability Plot

Parcels A/BParcel BParcel ABackground

17.5

15.0

12.5

10.0

7.5

5.0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●●

●

●●●●
●

●●

●
●
●
●
●

●
●●
●
●

●
●

●●●●

●●●

●

●

●
●●●●●

●●

●●
●●
●●
●
●
●
●
●

●
●●
●

●

●
●
●●

●
●
●

●●

●●

●

●●●●
●

●●

●
●
●
●
●

●
●●
●
●

●
●

●●●●

●●●

●

●

●
●●●●●

●●

●●
●●
●●
●
●
●
●
●

●
●●
●

●

●
●
●●

●
●
●

●●

●

●

●●●

●
●
●

●

●●●

●

●

●

●●

●

●
●

●

●

●

●

●

●

●

●●●

●

●

●
●●

●●

●

●

●

●
●
●

●

●
●
●●
●
●●

●

●

●

●

●

●
●
●

●

●
●●
●
●

●

●

●

●

●

●

●

●

●●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●●●

●

●

●

●

●

●

●

●

●

●
●●
●●

●

●●

●

●

●●

●
●●●

Metal = Cobalt
Boxplot



/ / /
/ / /

Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

30-

25-

ot
E

c
o

'■M
(0
4-J
c
uu
c
o
u

20-

15-

10-

35302520151050

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Copper
Probability Plot

Parcels A/BParcel BParcel ABackground

30

25

20

15

10

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●
●
●
●

●

●●
●

●

●

●

●●

●

●
●
●

●

●

●

●

●

●

●

●

●

●
●
●
●
●●
●

●

●
●●●
●

●
●

●
●
●
●
●

●

●

●
●
●
●●
●
●

●

●
●●

●
●

●

●
●

●
●
●
●

●

●●
●

●

●

●

●●

●

●
●
●

●

●

●

●

●

●

●

●

●

●
●
●
●
●●
●

●

●
●●●
●

●
●

●
●
●
●
●

●

●

●
●
●
●●
●
●

●

●
●●

●
●

●

●
●

●

●

●

●

●

●
●
●
●

●
●●●
●

●●

●

●

●●

●

●

●

●
●

●

●

●
●
●

●

●

●

●●
●

●

●

●

●●

●

●●

●
●●●

●

●●

●●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●●

●
●

●

●

●

●●

●

●

●

●
●
●●

●

●●

●●
●●

●

●●●

Metal = Copper
Boxplot



//'// / / / /- / /
////•

Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

2500020000150001000050000

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Iron
Probability Plot

Parcels A/BParcel BParcel ABackground

20000

17500

15000

12500

10000

7500

5000

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●
●
●

●

●

●
●

●

●
●

●

●
●
●
●

●●

●

●
●●●

●

●

●

●

●●
●

●

●

●
●
●●

●

●

●

●

●

●

●●

●

●

●●
●
●●

●●
●

●

●

●
●
●●

●

●
●

●

●

●
●
●

●

●

●
●

●

●
●

●

●
●
●
●

●●

●

●
●●●

●

●

●

●

●●
●

●

●

●
●
●●

●

●

●

●

●

●

●●

●

●

●●
●
●●

●●
●

●

●

●
●
●●

●

●
●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●●
●
●
●

●

●
●
●
●

●

●●

●

●

●

●
●

●

●

●

●
●

●

●●

●

●

●
●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●●
●

●

●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●
●

●

●
●

●

●

●

●

●●

●

●

●

●

●

●

●

●●

●●●
●

●

●●
●

Metal = Iron
Boxplot



n
ns
n
o

150100500-50-100

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Lead
Probability Plot

Parcels A/BParcel BParcel ABackground

140

120

100

80

60

40

20

0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●●●●●
●●●

●

●

●

●●●●
●

●

●

●

●
●

●

●
●
●

●

●●●
●
●
●●●●●●●●●
●
●●●●●●●●●●●●
●
●●●●
●
●●●●●●●●●●

●●●

●

●

●

●●●●
●

●

●

●

●
●

●

●
●
●

●

●●●
●
●
●●●●●●●●●
●
●●●●●●●●●●●●
●
●●●●
●
●●●●●●●●●●

●
●●

●

●●
●
●●

●

●●

●

●●
●
●
●

●

●●

●

●●
●●●●●●●●●
●
●
●●
●●
●
●●
●
●●
●
●
●●●●●●●●●●●●
●●●●●●●●●●●●●●●
●
●●
●
●●
●
●●●●●●●●●●●
●

●●
●
●●
●
●

●

●

●●●
●●
●

●

●
●
●
●
●
●

Metal = Lead
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

I I I I
Background Parcel A Parcel B Parcels A/B

302520151050

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Lithium
Probability Plot

Parcels A/BParcel BParcel ABackground

25

20

15

10

5

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●

●

●

●

●

●

○

●

●●●

●

○

●

●
●

○

●

●
○

○○

●

○

●●

●

●

○

●
●●

●

●

●

●

●●

●●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●
●
●

●

●

●
●

●
●
●

●

●

●

●

●

●

○

●

●●●

●

○

●

●
●

○

●

●
○

○○

●

○

●●

●

●

○

●
●●

●

●

●

●

●●

●●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●
●
●

●

●

●
●

●
●
●●

●●

●
●

●●

●

●

●

●

●

●

●

●

●

●

●

●
●

●●

●

●

●

●

●
●

●

●

●

●

●

●

●
●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●
●●

●

●

●

●

●

●

●

●

●●●
●

●

●
●●
●●

●

●

●

●
●

●
●

●●

●

●
●

●

●●

●

●
●

●
●

●

●

●
●

●

●

●

●

Metal = Lithium
Boxplot



/////

Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

20000150001000050000

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Magnesium
Probability Plot

Parcels A/BParcel BParcel ABackground

17500

15000

12500

10000

7500

5000

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●

●

●

●

●

●●

●

●●

●●

●

●
●

●
●●
●

●

●
●

●
●
●●

●

●

●

●

●●

●

●●
●
●

●
●

●

●

●

●
●●

●

●

●

●

●

●

●

●

●
●●
●

●
●
●
●

●●

●

●

●

●

●

●

●●

●

●●

●●

●

●
●

●
●●
●

●

●
●

●
●
●●

●

●

●

●

●●

●

●●
●
●

●
●

●

●

●

●
●●

●

●

●

●

●

●

●

●

●
●●
●

●
●
●
●

●●

●

●

●
●●
●

●

●●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●
●

●

●

●

●

●

●

●
●

●

●
●

●

●

●
●

●
●

●

●

●●

●

●

●

●●●

●

●
●
●

●

●

●

●

●
●
●

●

●

●

●
●●

●
●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●
●

●
●

●

●

●
●

●

●

●

●

●

●

●

●●

●

●
●

●

●

●●

●
●
●

●

Metal = Magnesium
Boxplot



n
ns
n
o

ot

I* 800

c
o

'■M
600

c
as
u

o 400

120010008006004002000

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Manganese
Probability Plot

Parcels A/BParcel BParcel ABackground

1200

1000

800

600

400

200

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●
●

●

●

●

●
●

●
●

●

●

●
●●●
●

●

●

●

●

●

●
●
●●
●

●
●●

●

●

●●

●●

●

●

●
●
●

●

●
●

●

●
●
●●●

●

●

●
●

●

●
●●●

●

●

●●
●
●

●
●

●

●

●

●
●

●
●

●

●

●
●●●
●

●

●

●

●

●

●
●
●●
●

●
●●

●

●

●●

●●

●

●

●
●
●

●

●
●

●

●
●
●●●

●

●

●
●

●

●
●●●

●

●

●●
●
●

●
●

●

●

●
●
●

●

●

●●

●●

●

●

●
●

●

●

●

●

●
●

●

●

●

●

●
●

●

●

●

●
●
●●

●

●

●●

●

●
●

●

●

●

●●

●
●
●

●

●

●●

●

●

●
●
●●●●

●
●●

●●●●

●
●

●
●●
●

●

●

●

●

●

●

●

●

●

●

●

●

●
●
●●

●
●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●
●

●●
●
●
●●
●

●

Metal = Manganese
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

0.20-

0.15-

ot
E

I 0.10-

C
0)u
c
S 0.05-

0.00- I I I I

0.30.20.10.0-0.1

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Mercury
Probability Plot

Parcels A/BParcel BParcel ABackground

0.20

0.15

0.10

0.05

0.00

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

○

●

○

●

●

●
●●

●

●

●

●

●

○

●●

●●

●

●
●
●

●
●
●
●

○

●

○

●

○

●

○○○○

●

○

●

○○○○○

●

○○

●

●

●

○

●

○○

●

●
●

○

●
●

●

○○

●

○

●

○

●

●

●
●●

●

●

●

●

●

○

●●

●●

●

●
●
●

●
●
●
●

○

●

○

●

○

●

○○○○

●

○

●

○○○○○

●

○○

●

●

●

○

●

○○

●

●
●

○

●
●

●

○○

●

○○●
●
○○
●
○
●
●●

●

●●●
○○○●

●
●

●●

●

●

●

●

●

○●
●●

●

●●
●

○
●●●
○

●

●

●

●●●●●
●

●
●●●
●●
●●
●●
●
●

●○

●

●●●●
●●●
●
●

●

●●

○○○○○○○○○○●
●●○
●
●○

●

○○●○
●

●

●●

●
●
●●●●●●●●●●
●
●

●
●
●

Metal = Mercury
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

/ // //

1.5

ot
E

1.0
2
c
uu

0.5

2.01.51.00.50.0-0.5

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Molybdenum
Probability Plot

Parcels A/BParcel BParcel ABackground

2.0

1.5

1.0

0.5

0.0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

○

○
○
○

●

○○
○○○
○
○
○

○
○○●
●

○

○
○○○
○
○
○

●

●

●

●●

●

●

●
●
●
●
●
●

●

●
●
●

○○○

●
●

●

●●●●
●●

●●

○○○○○○○

○

○
○
○

●

○○
○○○
○
○
○

○
○○●
●

○

○
○○○
○
○
○

●

●

●

●●

●

●

●
●
●
●
●
●

●

●
●
●

○○○

●
●

●

●●●●
●●

●●

○○○○○○○

●

●

●

●
●

●
●

●

●

●●●

●

●

●
●

●

●
●
●●
●
●●
●●●
●●●
●

●

●

●●
●●●

●

●
●●

●

●

●

●

●●

●
●

●●
●

●

●

●
●
●
●
●●●
●
●
●
●
●●
●●●

●

●●

●
●
●

●
●
●
●

●
●

●

●●

●
●
●●

●

●
●●●●
●

●

●

●
●

●

●

●

●
●●
●
●

●

●●●●●

●
●

●
●

●

Metal = Molybdenum
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

//7/:,.4

2525

Ot
E

20
o

'■M
2

15
c
o
u

302520151050

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Nickel
Probability Plot

Parcels A/BParcel BParcel ABackground

30

25

20

15

10

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●

●

●●●
●●
●●●

●

●
●

●
●●
●
●

●

●

●

●
●

●

●

●

●

●●
●

●
●

●

●
●
●●

●
●

●●
●●

●
●
●
●
●
●

●

●
●●
●

●

●
●
●●

●
●

●

●
●

●

●

●●●
●●
●●●

●

●
●

●
●●
●
●

●

●

●

●
●

●

●

●

●

●●
●

●
●

●

●
●
●●

●
●

●●
●●

●
●
●
●
●
●

●

●
●●
●

●

●
●
●●

●
●

●

●
●●

●●

●
●

●
●●

●●
●
●●

●●
●

●

●

●●

●

●

●

●

●

●

●

●●
●

●

●

●

●
●
●

●

●

●

●

●

●

●

●

●

●

●●
●

●

●

●●●

●

●

●

●

●

●

●
●●
●
●

●

●

●

●

●

●

●

●
●
●
●

●

●●

●

●●

●

●

●

●

●

●

●

●

●

●

●
●
●

●
●

●

●

●

●

●

●

●

●

●●

●●

●

●
●
●
●●●●
●
●●

Metal = Nickel
Boxplot



n
ns
n
o

> iWTTT/
'' ! }/ /// yi / / /

//' /

- 
/

1 / I I ’/ *
--n/ y ///

• / //// ;
• *'^'Z/1

'x/n/'Z_|-----^----- 4------ I--- •*§- L. «: y'. /4-----4.----- 4------ 1—

-i—-i—-i— ------ 1-

Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

9876543210

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Niobium
Probability Plot

Parcels A/BParcel BParcel ABackground

7

6

5

4

3

2

1

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

○

○

○

○
○
○○○○○○
○
○

○

○○○
○
○

○

○
○
○
○
○
○
○
○○○○○
○○○○○○○
○
○○
○○○

●

○
○○○○○
○
○
○○

●

○○○○○○○

○

○

○

○
○
○○○○○○
○
○

○

○○○
○
○

○

○
○
○
○
○
○

○
○○○○○
○○○○○○○
○
○○
○○○

●

○
○○○○○
○
○
○○

●

○○○○○○○

○

○

○

○

○○○○○○
○
○
○

○

○
○○
○
○
○

○

○○
○
○○

○

○○
○
○
○○

○

○

○
○○○
○

○

○○
○

○

○○○○
○○
○

○

○

○

○

○

○○

○

○

○

○○

○

○
○
○○

○

○○

○

○○

○

○

○

○

○
○
○○○

○○

○
○

○

○

○

○
○○
○
○
○

○

○

○
○○○

○

Metal = Niobium
Boxplot



1.2

1.0

J 0.8
2

0.6
u

0.4

1.51.00.50.0-0.5

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Palladium
Probability Plot

Parcels A/BParcel BParcel ABackground

1.6

1.4

1.2

1.0

0.8

0.6

0.4

0.2

0.0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●

●

●

●

●

●●
●

●
●
●

●

●
●
●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●
●
●

●

●

●

●
●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●
●●●●●●

●

●

●

●

●

●

●

●●
●

●
●
●

●

●
●
●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●
●
●

●

●

●

●
●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●
●●●●●●

●

●
●

●●

●

●●

●

●
●

●

●

●

●

●

●

●

●

●

●●●

●

●

●●

●
●
●
●
●
●●

●

●

●●

●

●

●

●

●
●

●

●
●

●

●

●

●●

●

●
●

●

●
●
●

●
●
●
●●●
●
●●●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●●

●
●●●●

●

●

●

●

●

●

●

●

●

●

Metal = Palladium
Boxplot



>:/ i'-

Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

2000-

1750-

!> 1500-

c
1250-

ss
c

1000-
c
o
u

750-

I I I I
Background Parcel A Parcel B Parcels A/B

25002000150010005000

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Phosphorus
Probability Plot

Parcels A/BParcel BParcel ABackground

2000

1750

1500

1250

1000

750

500

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●●
●

●

●

●
●

●●
●

●

●

●

●

●

●●

●

●

●

●

●

●●

●

●●

●

●●

●

●

●

●

●●

●●

●
●

●
●

●

●●
●

●

●

●

●
●

●

●

●●
●

●

●

●●
●

●●

●

●●
●

●

●

●
●

●●
●

●

●

●

●

●

●●

●

●

●

●

●

●●

●

●●

●

●●

●

●

●

●

●●

●●

●
●

●
●

●

●●
●

●

●

●

●
●

●

●

●●
●

●

●

●●
●

●●

●
●

●

●

●

●

●●

●

●

●
●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●
●

●●
●
●
●
●

●●

●●●
●

●

●

●

●

●

●

●
●
●
●
●●

●

●

●●
●
●

●

●

●●
●

●

●

●

●

●
●

●

●
●
●●

●
●
●

●

●

●

●
●

●

●
●
●

●●
●

●

●
●●

●
●

●

●
●

●●

●

●

●

●

Metal = Phosphorus
Boxplot



' ' - l 7

in III •

1— •in

Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

0.300.250.200.150.100.050.00

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Platinum
Probability Plot

Parcels A/BParcel BParcel ABackground

0.25

0.20

0.15

0.10

0.05

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

○

○

○

○

○
○○○○○○
○
○

○

○○○
○
○

○

○
○
○

○
○
○
○○○○○○○○○○○○○○○○○○○○
○
○○○○
○
○○○
○
○○
○
○
○○
○○

○

○

○

○

○
○○○○○○
○
○

○

○○○
○
○

○

○
○
○

○
○
○

○○○○○○○○○○○○○○○○○○○○
○
○○○○
○
○○○
○
○○
○
○
○○
○○

○○○○○○○○○○○○○○○○○○○○○○

●

●

○○○○○○○○○○○○○○○

●

○○○○○○○○○○○○●○○○○○○○○○

●

○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○

Metal = Platinum
Boxplot



• /

Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

I 2000 3000
Concentration (mg/kg)

ot

Ot
3000

c
o

'-M
2
c
uu
c
o
u

6000500040003000200010000-1000

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Potassium
Probability Plot

Parcels A/BParcel BParcel ABackground

5000

4000

3000

2000

1000

0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●
●

●

●

●

●●
●
●
●

●

●

●

●

●

●

●

●

●
●●●
●
●●
●

●
●

●
●

●

●

●●

●

●

●

●
●
●●
●
●

●

●●

●●
●
●●
●

●
●

●

●

●
●

●

●

●

●

●

●

●
●

●

●

●

●●
●
●
●

●

●

●

●

●

●

●

●

●
●●●
●
●●
●

●
●

●
●

●

●

●●

●

●

●

●
●
●●
●
●

●

●●

●●
●
●●
●

●
●

●

●

●
●

●

●

●

●

●

●

●
●●
●●

●

●
●

●

●●

●

●
●

●

●
●

●

●

●
●

●

●

●●

●

●

●
●●

●
●●●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●
●

●
●

●

●

●●

●
●●

●●

●●

●
●

●

●
●●
●

●

●

●

●

●

●

●●

●
●

●

●

●

●

●

●
●

●

●

●

●

●

●

●
●

●

Metal = Potassium
Boxplot



/ //,'/!/ /

/ /

Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

ot
E

c
o

0.64-1
c 
0) u

0.4
u

1.501.251.000.750.500.250.00

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Selenium
Probability Plot

Parcels A/BParcel BParcel ABackground

1.4

1.2

1.0

0.8

0.6

0.4

0.2

0.0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

○

○

○

○

○

○○

○○○

○

○

○

○

○○

○

○

○

○

○○○

○

○

○

○

○

○

○○○

○

○○

○

○○○

○

○

○○

○○○

○

○○○○○

○

○

○○○

○○○○○○○

○

○

○

○

○

○○

○○○

○

○

○

○

○○

○

○

○

○

○○○

○

○

○

○

○

○

○○○

○

○○

○

○○○

○

○

○○

○○○

○

○○○○○

○

○

○○○

○○○○○○○

●

●●

○

●

●

●

○
●
○○○○○○○

●●

○○○○○○○○○

●

○○○○○○○

●

○

●●

○○

●

○○

●

○○○○

●

●
○

●

●

○○○○

●

○

●

○○

●●

○○○○

●

○

●

○○○○○○○

●
●

●
●

○
●
●●
●
●

○

●
●

○○

●

○○

●

○○

●

○○

●

●
○○
●●●
●

○○

●●●

●
●
●

●

Metal = Selenium
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

40003000200010000-1000-2000

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Silicon
Probability Plot

Parcels A/BParcel BParcel ABackground

4000

3000

2000

1000

0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●
●

●●●●●●●●●●
●

●●

●●●●●
●●
●
●
●

●

●
●
●

●
●●
●
●●

●
●
●●●

●●
●

●●
●●
●●
●
●
●

●
●

●
●●

●●

●●●
●●●

●

●●●●●●●●●●
●

●●

●●●●●
●●
●
●
●

●

●
●
●

●
●●
●
●●

●
●
●●●

●●
●

●●
●●
●●
●
●
●

●
●

●
●●

●●

●●●
●●●

●
●●●●●
●
●
●
●
●
●●

●

●●

●

●●
●
●
●

●●●
●●
●●●●●●
●●
●

●

●

●

●

●

●
●

●

●●

●

●
●

●

●
●

●

●
●●●

●

●●

●

●
●
●
●
●

●●

●

●●●
●
●●●

●
●

●

●●

●

●●

●

●

●

●

●
●

●

●

●

●

●●

●

●●

●

●

●

●

Metal = Silicon
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

-
/ / / /

1.000.750.500.250.00-0.25-0.50

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Silver
Probability Plot

Parcels A/BParcel BParcel ABackground

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

0.0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●●●●●●●
●

●

●
●●●
●
●●●●●●●
●●●●●●●●●●
●●●●●
●
●●●
●●●●●●●●●●●●●●
●
●●●●●●
●
●●●●●●●●●

●

●

●
●●●
●
●●●●●●●
●●●●●●●●●●

●●●●●
●
●●●
●●●●●●●●●●●●●●
●
●●●●●●
●
●●

○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○

●●
●●●●●●
●●●●●●
●●

Metal = Silver
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

Boxplot
Metal = Sodium

1800­

1600­

1400­

2
1200 -

E
^ 1000-
o

800-
■M

600-
c
o

400­

200­

0- I I I I
Background Parcel A Parcel B Parcels A/B

25002000150010005000-500-1000

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Sodium
Probability Plot

Parcels A/BParcel BParcel ABackground

1800

1600

1400

1200

1000

800

600

400

200

0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

) ●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●
●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●
●●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●
●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●
●●

●

●

●

●

●

●
●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●●

●

●

●
●

●

●

●
●
●
●

●

●

●

●
●

●

●

●

●

●
●●●

●●

●●
●

●

●

●

●

●

●

●
●

●

●

●

●●

●
●

●●

●●

●

●

●

●
●

●●

●

●

●

●
●

●

●●

●

●

●

●

●

●

●

●

●

●

●●

●

●
●

●

●●

●

●

●

●

●

●

●

Metal = Sodium
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

8006004002000-200

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Strontium
Probability Plot

Parcels A/BParcel BParcel ABackground

900

800

700

600

500

400

300

200

100

0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●

●

●

●

●

●●
●

●

●
●

●

●
●
●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●●
●
●

●

●
●
●

●

●

●

●●

●

●

●
●

●

●

●

●

●

●●●●●●●

●

●

●

●

●

●

●

●●
●

●

●
●

●

●
●
●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●●
●
●

●

●
●
●

●

●

●

●●

●

●

●
●

●

●

●

●

●

●●●●●●●

●

●●

●●

●

●●

●

●
●

●

●

●

●

●
●

●

●

●

●
●
●
●

●

●●

●

●●●
●
●●

●

●

●●

●

●

●

●

●
●

●
●
●

●

●

●

●

●

●

●

●

●
●
●
●

●
●
●
●●●
●
●
●●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●
●●
●●●●●

●

●

●

●

●

●

●

●

●

●

Metal = Strontium
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

2.52.01.51.00.50.0-0.5-1.0

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Thallium
Probability Plot

Parcels A/BParcel BParcel ABackground

2.0

1.5

1.0

0.5

0.0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

○
○○○○○○○○○○○○
○○○○○○
○
○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○

○
○○○○○○○○○○○○
○○○○○○
○
○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○○

○

●

○
○

●
●

○

●
●

○○

○

○○○

○

○

○

●
○

●

●

○○

●

○

●

○

○

○

○
○
○

○○
○○○

○○○

●

○

○

○

○○○

○

○
○
○○○○○○

●

○

○

●

●

●

○

●

●

○

●

●

○

●

●
●

●

●

●

●

○○
○

○

○

○

○○

○

○

○○○
○

○

○

○
○

○○

○

○
○

○

○
○

○

●
●●●●●●●●●●

●
●

●
●
●

Metal = Thallium
Boxplot



/ // II
/ / /

-ly--

Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

'Jl/l •

V / /

ns

c
as
u
c
o
u

i C p 1
* • 1
* r

2.01.51.00.50.0-0.5

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Tin
Probability Plot

Parcels A/BParcel BParcel ABackground

1.6

1.4

1.2

1.0

0.8

0.6

0.4

0.2

0.0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

○●
●
●
●●●●

●

●

●

●
●

○
●●

●

●

●

●
●●

●

●

●

●

●●●

●

●

●●●●

●

●
●●
●
●

●
●○○
●●●●●
●

●

●●
●●
●
○

●

●○○○
●○●

●
●
●●●●

●

●

●

●
●

○
●●

●

●

●

●
●●

●

●

●

●

●●●

●

●

●●●●

●

●
●●
●
●

●
●○○
●●●●●
●

●

●●
●●
●
○

●

●○○○
●

●●
●
●●

●

○●

●●
●●
●
●
●
●
●

●●●
●

●

●
●

●●
●●
●●●
●

●

●
●
●

●●

●

●
●

●

●

●

●

●
●

●

●
●

●

●

●●●

●●

●
●●●
●
●
●
●
●●●●●

●●
●●

●

●
●

●
●

●

●●

●

●

●

●

●

●

●

●

●
●

●●●

●●

●

●

●

●

●
●

●

Metal = Tin
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

*

120010008006004002000

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Titanium
Probability Plot

Parcels A/BParcel BParcel ABackground

1100

1000

900

800

700

600

500

400

300

200

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●

●

●

●

●

●●

●

●
●
●
●●●

●

●
●●

●
●●

●

●

●

●
●

●●●

●
●

●
●
●
●

●

●●

●

●
●

●●●●

●
●●

●●
●

●

●
●

●

●
●

●

●

●
●

●

●

●

●

●

●

●

●

●●

●

●
●
●
●●●

●

●
●●

●
●●

●

●

●

●
●

●●●

●
●

●
●
●
●

●

●●

●

●
●

●●●●

●
●●

●●
●

●

●
●

●

●
●

●

●

●
●

●

●

●

●
●●
●●

●

●●

●

●

●●
●

●

●

●
●

●

●●●

●

●

●

●●●
●

●

●

●

●

●

●●
●

●●

●

●

●

●

●
●

●●

●
●

●

●

●
●●

●
●

●

●

●

●

●

●
●

●
●

●●

●

●●

●

●●
●

●

●

●

●

●

●●

●

●
●

●

●
●
●

●
●
●

●

●
●
●

●●
●

●

●

●●

●

●

●

●

●

●●

●
●
●
●

●●
●●

●

●●●

Metal = Titanium
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

2.0

ot
E

c
1.5

2
c
uu

1.0
u

3.02.52.01.51.00.50.0-0.5

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Tungsten
Probability Plot

Parcels A/BParcel BParcel ABackground

2.5

2.0

1.5

1.0

0.5

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

○

○
○
○
○
○○
○○○
○
○
○

○
○○
○
○
○

○
○○○
○
○
○
○
○
○
○○○
○
○○
○
○○○
○
○
○○
○○○
○
○○○○○
○
○
○○○
○○○○○○○

○

○
○
○
○
○○
○○○
○
○
○

○
○○
○
○
○

○
○○○
○
○
○

○
○
○
○○○
○
○○
○
○○○
○
○
○○
○○○
○
○○○○○
○
○
○○○
○○○○○○○

○

○
○

○

○○

○

○
○○
○

○

○

○

○○

○

○

○

○

○

○
○

○
○
○

○

○○○

○

○

○

○
○

○

○
○○

○

○

○

○
○

○

○

○○○

○○

○
○

○
○
○

○
○

○
○
○

○

○

○○○

○

○○

○
○

○

○

○

○

○

○

○

○

○○○

○○

○

○

○

○

○

○

○

○

○
○

○

○

○

○

○

○

○

○

○

○

Metal = Tungsten
Boxplot



^ 2 5-O)

O)
E

c
o

2
1.5

uu
c
o

1.0

43210-1

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Uranium
Probability Plot

Parcels A/BParcel BParcel ABackground

3.0

2.5

2.0

1.5

1.0

0.5

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●
●

●
●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●
●

●
●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●
●

●

●
●
●
●●
●

●

●

●
●

●
●

●

●

●

●

●
●●
●

●

●

●

●
●

●
●●

●

●

●

●●

●
●

●
●●
●
●

●
●●●

●

●
●

●

●

●

●●
●
●
●
●
●
●

●●
●●

●

●

●
●

●

●●
●●
●

●

●

●
●

●

●●
●
●●
●
●

●

●●
●

●
●
●

●

●
●

●

●

●

●

●
●

Metal = Uranium
Boxplot



I!
Ot
E

c
o

'■M
(0

c
uu
c
o
u

60­

50­

40­

30­

20­

10- I I I I
Background Parcel A Parcel B Parcels A/B

80706050403020100

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Vanadium
Probability Plot

Parcels A/BParcel BParcel ABackground

60

50

40

30

20

10

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●

●●

●

●

●
●

●

●
●●
●
●

●

●

●
●●
●
●
●●

●

●

●●

●

●
●●●

●
●

●●
●
●●

●

●
●

●●●●

●●

●
●
●

●
●

●
●●

●
●

●
●

●
●

●

●
●

●

●●

●

●

●
●

●

●
●●
●
●

●

●

●
●●
●
●
●●

●

●

●●

●

●
●●●

●
●

●●
●
●●

●

●
●

●●●●

●●

●
●
●

●
●

●
●●

●
●

●
●

●
●

●

●
●

●●●

●
●
●
●●

●

●

●

●
●
●

●
●

●

●

●

●
●

●

●

●

●
●●

●
●

●

●

●

●

●
●

●

●

●
●

●

●

●

●

●

●

●
●

●

●●

●

●
●

●

●

●

●
●
●

●

●

●
●

●

●

●

●

●
●

●

●●

●

●

●

●

●

●
●

●

●

●●

●

●

●

●

●

●●

●

●
●

●

●●●

●

●

●●

●

●

●

●
●●
●●
●
●●

●●
●●●●●●

Metal = Vanadium
Boxplot



/ / /

in

■+------- 1--7’“--

Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

/1 / //

250200150100500-50-100

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Zinc
Probability Plot

Parcels A/BParcel BParcel ABackground

200

150

100

50

0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●●●●●●●
●

●

●

●

●●●

●
●

●

●

●

●
●●
●

●

●

●

●●●

●

●
●●●●●●●●
●●●●●●
●●●●●●●●●●
●●●
●
●●●●
●●●●●●●●

●

●

●

●

●●●

●
●

●

●

●

●
●●
●

●

●

●

●●●

●

●
●●●●●●●●
●●●●●●
●●●●●●●●●●
●●●
●
●●●●
●

●●●●●
●
●●
●●●
●

●
●
●
●●

●

●
●

●

●
●●●●
●
●●●●●●●●
●●●

●

●
●●

●
●

●

●●
●
●●
●
●
●●●

●●●●●
●●

●

●●●
●
●●
●
●●●●●●●

●●

●

●●
●
●●
●
●●

●

●●

●

●●
●

●●

●

●
●

●

●●

●

●

●
●●●
●
●
●

●●●●●
●●●

Metal = Zinc
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

Ot

Ot
E

c
o

'■M
(0

c
uu
c
o
u

250200150100500

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Concentration (mg/kg)

P
ro

ba
b

ili
ty

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Metal = Zirconium
Probability Plot

Parcels A/BParcel BParcel ABackground

200

150

100

50

0

C
on

ce
n

tr
at

io
n

 (
m

g/
kg

)

●●●●
●●●●●●●●●●●
●●●●●●●
●●●●●●●●●
●●●●●●●●●●●●●●●●●●

●

●●●●●●●●●●●●●●
●●●●
●●●●●●●●●●●
●●●●●●●
●●●●●●●●●

●●●●●●●●●●●●●●●●●●

●

●●●●●●●●●●●●●●

●

●

●

●
●

●
●
●

●

●

●
●

●

●●●

●
●

●

●
●
●
●

●

●
●

●

●
●

●

●●

●

●●●

●
●
●

●

●

●

●

●
●
●
●
●●
●

●●

●

●

●●
●

●

●
●●

●●
●

●

●
●●

●

●

●●
●●●
●

●

●

●
●

●
●

●
●●●

●●●●
●
●●●

●
●

●

●
●

●●
●●

●

Metal = Zirconium
Boxplot



/' i /

Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

-i - /nn-

2.5-

2.0-

u
a

2.52.01.51.00.50.0

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Activity (pCi/g)

P
ro

ba
b

ili
ty

Radionuclide = Radium-226
Probability Plot

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Parcels A/BParcel BParcel ABackground

2.5

2.0

1.5

1.0

0.5

Dataset

A
ct

iv
it

y 
(p

C
i/

g)

●
●
●
●
●
●
●●

●●●●●
●
●●
●

●
●●
●
●

●●●
●

●

●

●

●

●
●

●

●
●
●
●●
●

●
●●
●

●

●
●●●
●●

●

●
●●●
●
●
●
●

●

●
●

●

●
●
●
●
●
●
●
●●

●●●●●
●
●●
●

●
●●
●
●

●●●
●

●

●

●

●

●
●

●

●
●
●
●●
●

●
●●
●

●

●
●●●
●●

●

●
●●●
●
●
●
●

●

●
●

●

●

●●○

●

○

○
●○
●

●

●
○

●

●●

●

●
●

●●

●

●

●
●

●

●
●

●
●
●
●

●

●
●

●

●

●
●

●

●

●

●

●

●
●
●

●
●

●
●
●

●

●
●
○
●
○
●
○

●
●

●

●

●

●

●

●

●
●

●
●

●

●

●

●
●

●

●

●

●●

●

●

●

●

●
●
●

●●
●●
●
●●

●

●

●

●

●

●

●

●

●

Radionuclide = Radium-226
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

; 2.0
Activity (pCi/g)

u
a

>
'-M
U
<

3.53.02.52.01.51.00.5

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Activity (pCi/g)

P
ro

ba
b

ili
ty

Radionuclide = Radium-228
Probability Plot

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Parcels A/BParcel BParcel ABackground

3.0

2.5

2.0

1.5

1.0

Dataset

A
ct

iv
it

y 
(p

C
i/

g)

●

●

●●●
●

●●●

●

●
●

●

●

●

●

●

●●●
●
●●
●
●●

●

●

●

●

●

●●
●

●
●
●●
●

●

●
●
●

●

●
●

●

●●●

●

●

●

●

●
●

●●
●●
●

●
●
●

●

●

●●●
●

●●●

●

●
●

●

●

●

●

●

●●●
●
●●
●
●●

●

●

●

●

●

●●
●

●
●
●●
●

●

●
●
●

●

●
●

●

●●●

●

●

●

●

●
●

●●
●●
●

●
●
●

●

●

●

○

○

○

○

●

●

●

●

●

○

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●
●

●

●

●
●

●

●

●
●

●

●
●●

●
●

●

○●

●

●

●

○

●

●

●

○

●

○

○

○
○

○

○

●

○
○

●

●

●

●

●

●

●

●
●

●●

●●

●

●

●

●

●

●

Radionuclide = Radium-228
Boxplot



n
ns
n
o

ot

i-5
a

£
>

'-M

3.53.02.52.01.51.00.50.0

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Activity (pCi/g)

P
ro

ba
b

ili
ty

Radionuclide = Thorium-228
Probability Plot

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Parcels A/BParcel BParcel ABackground

2.5

2.0

1.5

1.0

0.5

0.0

Dataset

A
ct

iv
it

y 
(p

C
i/

g)

●

●

●

●●

○

●

●
●

●
●

●●●

●

●

●

●

●

●

●

●
●

●
●

●●

●

●

●
●

●

●

●

●

●

●

●●●

●

●

●

●●

●●

●
●●

●

●

●
●●

●
●●
●

●

●

●
●

●

●

●

●

●●

○

●

●
●

●
●

●●●

●

●

●

●

●

●

●

●
●

●
●

●●

●

●

●
●

●

●

●

●

●

●

●●●

●

●

●

●●

●●

●
●●

●

●

●
●●

●
●●
●

●

●

●
●

●
●

●

●
●

●●

●●

●

●

●
●

●

●
●●

●

●

●

●

●
●

●

●

●

●

●

●●
●
●
●●
●
●
●

●

●

●

●

●

●

●

●

●

●
●

●

●●

●

●

●
●●

●
●●●
●

●
●

●●

●

●●

●

●●

●

●

●

●

●
●

●

●

●●

●

●

●

●●
●
●
●

●

●

●

●

●
●
●

●

●

●

●

●

●
●

●

●

●

●●
●
●●

●●

●

●

●

●

●

●

●

●

Radionuclide = Thorium-228
Boxplot



u
a

1.5

1.0

0.5

3.02.52.01.51.00.50.0

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Activity (pCi/g)

P
ro

ba
b

ili
ty

Radionuclide = Thorium-230
Probability Plot

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Parcels A/BParcel BParcel ABackground

3.0

2.5

2.0

1.5

1.0

0.5

0.0

Dataset

A
ct

iv
it

y 
(p

C
i/

g)

●
●
●

●

●

●

●

●●●

●

●

●●

●

●

●

●

●

●
●●●
●
●

●

●

●

●

●

●●

●

●

●
●●

●

●
●●●●

●

●●

●
●
●
●

●

●●

●

●

●

●
●

●

●

●●

●

●●
●
●

●

●

●

●

●●●

●

●

●●

●

●

●

●

●

●
●●●
●
●

●

●

●

●

●

●●

●

●

●
●●

●

●
●●●●

●

●●

●
●
●
●

●

●●

●

●

●

●
●

●

●

●●

●

●

●

●
●
●
●

●●●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●
●

●
●

●

●

●●●●

●

●●●

●

●

●

●
●

●

●●

●

●
●
●
●

●●

●

●●●
●

●●●

●

●

●
●

●
●●●●
●

●●●
●
●

●●●

●

●
●●

●
●

●
●

●
●

●●

●●
●

●

●

●●

●
●

●

●

●
●

●●

●

●
●
●●

●
●●
●

●●
●
●
●

●

●

Radionuclide = Thorium-230
Boxplot



/ //// / /
/ / /

' / //

Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

3.53.02.52.01.51.00.50.0

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Activity (pCi/g)

P
ro

ba
b

ili
ty

Radionuclide = Thorium-232
Probability Plot

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Parcels A/BParcel BParcel ABackground

2.5

2.0

1.5

1.0

0.5

0.0

Dataset

A
ct

iv
it

y 
(p

C
i/

g)

●

●

●

●
●

○

●

●

●

●

●

●●

●

●

●
●

●
●●●

●

●
●

●

●

●
●
●
●●

●●●

●

●●

●

●
●●
●

●

●

●●

●
●

●●

●

●

●

●

●
●●●
●
●●●

●

●

●

●

●

●
●

○

●

●

●

●

●

●●

●

●

●
●

●
●●●

●

●
●

●

●

●
●
●
●●

●●●

●

●●

●

●
●●
●

●

●

●●

●
●

●●

●

●

●

●

●
●●●
●
●●●

●

●

●

●●

●

●●

●

●

●●

●
●●

●●

●●

●●

●
●

●
●●

●

●

●

●
●

●

●

●

●
●
●

●

●●

●

●●
●

●●

●

●●

●

●
●

●

●
●
●●●●●●
●

●●

●
●

●

●●
●

●●●

●●

●

●
●●
●

●
●

●●

●

●

●

●
●●
●

●

●

●
●

●
●

●●

●

●
●

●

●●

●

●

●
●
●

●●

●

●

●

●

●

●

●
●●
●

Radionuclide = Thorium-232
Boxplot



/ i i r / 1/ /
/ / /

Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

3210-1

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Activity (pCi/g)

P
ro

ba
b

ili
ty

Radionuclide = Uranium-233/234
Probability Plot

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Parcels A/BParcel BParcel ABackground

3.0

2.5

2.0

1.5

1.0

0.5

0.0

Dataset

A
ct

iv
it

y 
(p

C
i/

g)

●

●

●

●

●

●●
●

●

●

●

●

●

●

●
●

●

●

●

●

●●

●
●
●

●

●

●

●

●●
●
●
●●

●

●

●

●
●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●●

●

●

●

●

●

●

●

●●
●

●

●

●

●

●

●

●
●

●

●

●

●

●●

●
●
●

●

●

●

●

●●
●
●
●●

●

●

●

●
●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●●

●

●

●
●
●●
●●●
●

●●●
●●
●

●
●

○
○○
○○

○
○
○○

●

●
○

●

●

○

●

○○

●

○○

●

○○○○○
●●

●

●

●

●

●

●
●

●●

○

●

●
●

●

●

○
●●●

●
●●

●

●
●○
○
○
○●

○
○○
○○
○○○○○○
○○
○○

○
○○

●

○

○

●

●
○

●

○

○

○○●
○○○
○

○

●

●

●

○

●

●

○

●

●

○

Radionuclide = Uranium-233/234
Boxplot



Dataset
—•— Background 
— - Parcel A

Parcel B
—•- - Parcels A/B

i/i a*

u
a

>
'-M
U
<

0.200.150.100.050.00-0.05-0.10

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Activity (pCi/g)

P
ro

ba
b

ili
ty

Radionuclide = Uranium-235/236
Probability Plot

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Parcels A/BParcel BParcel ABackground

0.20

0.15

0.10

0.05

0.00

Dataset

A
ct

iv
it

y 
(p

C
i/

g)

●

○
●
○
●●

○○○○
○
○
○

●
○

●

○○
●●●
○○
○○○

●

○

●

●○○

●
●
○○○○
○
●
○

●

○
○○○
●
●●●
●

○

●

○

●
●●

●

●
○○○

●

○
●

○
●
○
●●

○○○○
○
○
○

●
○

●

○○
●●●
○○
○○○

●

○

●

●○○

●
●
○○○○
○
●
○

●

○
○○○
●
●●●
●

○

●

○

●
●●

●

●
○○○

●

○

○

○

●○

●

○

○

○

●

●

●●○

○○
○

○

●

○
○●

○

○

●
●

●
○

●

●

●

○

○
○

○●
●

●

●

○
○
○

○

●

●

○

●

○

○

●

●

●

○

○○

●

○

○

●

○

○
○

●

●

●○

●

○

●

○

○

●

●

○

○

○

●

●

●

○

●●

●

○

●

○
○

○

○

○

○

○

○
○
○

●

●

○○○

○●●

●

○

○

●

●

○
○

●

●
○

●

●

○

●
●

○

●○

Radionuclide = Uranium-235/236
Boxplot



n
ns
n
o

2.52.01.51.00.50.0-0.5

0.999

0.99

0.95
0.9

0.8
0.7
0.6
0.5
0.4
0.3
0.2

0.1
0.05

0.01

0.001

Activity (pCi/g)

P
ro

ba
b

ili
ty

Radionuclide = Uranium-238
Probability Plot

Background
Parcel A
Parcel B
Parcels A/B

Dataset

Parcels A/BParcel BParcel ABackground

2.5

2.0

1.5

1.0

0.5

0.0

Dataset

A
ct

iv
it

y 
(p

C
i/

g)

●

●

●

●

●

●●●●

●
●
●●
●

●
●
●

●
●
●
●●
●●●

●

●

●

●

●
●
●
●
●●

●
●

●

●
●
●

●

●
●

●●

●

●

●
●

●

●

●

●

●

●●
●

●

●
●●

●

●●

●

●

●

●

●●●●

●
●
●●
●

●
●
●

●
●
●
●●
●●●

●

●

●

●

●
●
●
●
●●

●
●

●

●
●
●

●

●
●

●●

●

●

●
●

●

●

●

●

●

●●
●

●

●
●●

●

●

●
●
●

●

●
●●

●
●

●

●
●

●

●

●

●

●
●

●
●

●

●

●
●

●

●

●

●●●

●

●
●
●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●●●

●

●
●

●

●●
●
●
●
●

●
●●●

●●●●

●●
●

●

●

●
●

●

●●

●
●

●

●●
●
●
●
●

●

●

●

●

●

●

●●

●

●●

●●
●

●●
●

●
●
●●

●
●●

●

●●●

Radionuclide = Uranium-238
Boxplot


